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General Instructions to Candidates :

® ‘There is a *Cool-off time’ of 15 minutes in addition to the writing time.

® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.

® Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself,
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 5 questions from 1 to 6. Each carries 1 score. Gx1=5)

1. The version of a map which is already provided to each of us in childhood by the
process of socialization is ‘

(a) Social map

(b) Commonsense map
(c) Geographical map
(d) Physical map

The number of females per thousand males in a given area at a specified time period is

2

known as

3. About 85% of tribal population live in part of India.

[South India, North India, Middle India, East India}

4. Which state in India has the highest birth rate ?
{Kerala, Tamil Nadu, Uttar Pradesh, Gujarat]

5. The 3 dimensions of untouchability are
|

6. - Name the marginised tribal group controlled salt business during colonial period.

Answer any 4 qu&sﬁons from 7 to 11. Each carries 2 scores. “4x2=9)

7. The goods that people buy and use are closely related to their status in society.
(a) Name the concept. (D
(v) Who coined the term 7 (1)
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8.  Define untouchability.

9. Define the concept, “Invisible Hand”.

10. Fill in the blanks :

Inheritance (b)

N N

Patrilincal (a) Patriarchal Matniarchal

11. Define “Demographic dividend”.

Answer any 4 questions from 12 to 16. Each carries 3 scores. 4x3=12)

12. The table below indicates different phases of demographic transition. — Fill in the blanks.

Features Phase 1 Phase2 Phase 3
Technology and Technological Technology (a)
Society backward developing [ T
Birth Rate and (b) High Birth rate Low Birth rate
Desskay | T Low Death rate Low Death rate
Growth rate Low (c) Low

13.  Identify the recent changes in Indian family in relation to other changes in society.

14. “Explain the concept commodification with example.

15.  Differentiate between social map and geographical map.

16. List three forms of capital of social resources.
SFE 38 4
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17.

18.

19.

20.

21.

Answer any 4 questions from 17 to 21. Each carries 4 scores. {4 x4=16)

Population in Rural and Urban Area
Year Percentage of Total Pﬁpu]atﬁom
Rural Urban

1951 82.7 17.3

1961 82.0 18.0

1971 80.1 19.9

1981 76.7 233

1991 74.3 25.7

2001 722 | 278

2011 68.8 312
(@) Analyse the above table and find out the trend in urbanization in India. 2)
(b) Write sociological reasons behind this trend. )

“Prior knowledge or familiarity with society is both an advantage and a disadvantage

for learning sociology.” -- Do you agree with this stateme nt ? 1)

Substantiate your answer. » g 3)
Classify and explain the tribes on the basis of their permanent traits.

Sociologists view markets as social institutions.. Analyze the market as a social

institution. Substantiate your answer with an example.

Define social stratification. (N

Give its characteristics. 3)
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22,

23.

24,

25,

27.

Match the followings : 5x1=5)

A B C
i. | Sree Narayana Guru | Sociological imagination | Dominant caste
ii. | MLN. Srinivas Rate of Suicide Tribal Market
iii. | C.W. Mills SNDP Social Couses
iv. | Emile Durkheim Dorai American Sociologist
v. | Alfred Gel Sanskritisation Social reformer
Answer any 3 questions from 23 to 26. Each carries 6 scores. (3x6=18)

“Globalization circulates not only money and goods, but also people and culture.” —
Discuss how.

“In the contemporary period caste become invisible for the upper caste and visible for
lower caste.” Analyze the modern trend in caste system.

Evaluate the measures taken by state and non-state initiatives addressing caste
discrimination. ,

“Colonialism gave birth to its own enemy-nationalism.” Analyze the statement from a
sociological point of view.

Answer any 2 questions from 27 to 29. Each carries 8 scores. 2x8=16)
(a) Critically analyse the main stream attitudes towards tribals of India. )
(b) Evaluate tribal development in the context of national development. “4)

SFE 38 8



22,

23

24,

25.

26.

27.

Cal®)onlS] GaiBaa)d : (5x1=9)

A B C
i. | @3 MOOIWEME] | TLBPWROURY (alenIeIROw
aLE@Bale
ii. | ago.agad. ERGVODPAOHS cwa@ailalem
@ladlanay’

iii. | mdl.awepyy. alladay’ af)TV.ef@.cufl.all. VA0 HODETNERUD

iv. | apalel aydail GBI660 @Rcadlannd
MLODAOLUBOTNEETD

V. | GR@3nOL enod TUoaPYBAU Mo aLo@a0}
al@ladaAomoal’

23 s 26 WSODSA G2193iABHICE aBOOBIEl) 3 af)FRATIN DTMODAOYE .
6 capod afimo. 3x6=18)

“@RHEUNOBAUDIBOMo alsMAllo 210EMNGHSle AAEAEL| BRBHCEW)o MVTPOVCOINW)o
2lolHBEMo HalQGI).” af)EBOHMEWAT 21B26)a 1),

“QIBOMAIMGILIT RO DA ROTHENIBSE @ADL GOV ROGI0BHE
ayoyn@oam.” R0l aljairuoeien @yw)afla I ANRBEIMo 62 1)),

0ol aflcaialMe  eMEISMEINM @Yo @IGEY®O TV LISMG)e n@s;mm
MmSaslencd afleilo)om)a. '

“caosmlameeame. @mola) w@ar caulemes Ople ®ell.” @Y
(LIQROQUMOR TVAJAOUDITY A IAAND @0¥21al0S1E3 AllOMHLIMo Bl )dh.

27 M3 29 IHAW)HS GaloaiBElal agemesiens 2 nmq‘mmaﬂm DOMOSASY®)) .
8 eapad allow. 2x8=16)

(a) miieet BN aileonemesIs)es 264D MCMIBIU
alladrmIciaea0@ allvodeiMo SalQ)d. C))

(b) ool  allarumosien Al@POeIoTIed cuo@  allarumes
aflerolo)om)e. “@

SFE 38 - 9 P.T.O.



28. “Inequalities between men and women are social rather than biological.” — Prepare a
speech on the topic “Struggles for women equality and rights” to present on the

occasion of International Women’s Day.

29. (a) Analyze the Malthusian Theory of population growth. - 4)
(b) Point out the criticism raised by liberal and Marxist scholars. ' 2)
(c) Critically analyze the theory in the context of contemporary India. ‘ @)
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